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54 10km 7.5km 4 5km
‘2 20km  (15km)
i 4 5km
2 10km
B 100ha  (75ha) | soha
! 100ha (75ha) 50ha
100ha (75ha)
100ha  (75ha) 50ha
'10km  (7.5km) 5km
i 10km (7.5km) 5km
5 2500m  (1875m) 1250m
Y 3 kw225 kw) | 15 kw
15 kw (1125 kw) 75 kw
1 kw 7500kw
!30ha  (25ha) 15ha
isoha (40ha) 25ha
1100ha  (75ha) 50ha
'100ha  (75ha) 50ha
10 100ha  (75ha)
11 '100ha  (75ha) 50ha
12 1100ha  (75ha) 50ha
13
" lio00ha (75h@) |1 soha
' 100ha (75ha) 50ha
14 114 23 50ha
15 50ha
16 4 Nm¥h 5 m3d
17 50t/d( )
18 i 20ha
19 5 10 m 100m
20 20ha
21 ; 50ha
22 5 15
23 300ha 150ha









